Attachment #1

Mobile Field Force Equipment List

- 1. Vehicles
 - (a) (3) Trailers- AEL# 12TR-00-TEQP 1@\$35,000= \$105,000
 - (b) (3) Transport Vans (Specialized Emergency Management)-1@ \$30,000= \$90,000 AEL# 12VE-00-SPEC
 - (c) (1) Equipment Truck with Hitch (Specialized Emergency Management)-1@ \$47,000 AEL# 12VE-00-SPEC
 - (d) Peformance Bond for three vehicles: \$3,000 (Reference P.16 of 2010 Grant Guidelines).
- 2. Individual Equipment
 - (a) Uniform- Provided by Department.

(b) Duty belt with safety holster- Provided by Department.

(c) Eye protection- "UVEX" XC Shooting Glasses. (1) @ \$20.00 x 108= \$2,160.00 (x2)

(d) Gloves- "Hatch" Operator Tactical Glove. (1) @ \$20.00 x 108= \$2,160.00

(e) Ballistic Helmet w/ Face Shield- "MSA" Ballistic Helmet w/ face shield and tail attachment. (1) @ \$550.00 x 108= \$59,400.00.

(f) Baton, 36'- Provided by Department.

(g) Baton, 24'- Provided by Department.

(h) Baton, ASP- Provided by Department.

(i) Flashlight- Provided by Department.

(j) Riot Shield- "Paulson" Riot Shields. (1) @ \$150.00 x (16)=\$2,400.00.

(k) Elbow and Knee Pads- "Hatch" XTAC Elbow & Knee Pads. (1) pair of elbow and knee pads @ \$30.00 x 108= \$3,240.00

(I) Shin Guards- "Damascus" DSG-100 Hard Shell Shin & Knee Guards. (1) @ \$60.00 x 108= \$6,480.00

(m) Personal Water System- "CamelBak" Urban Assault #60893. (1) @ \$50.00 x 108= \$5,400.00

(n) Deployment Bags- "Eagle" Ready Load Out Bag, NATO lob- (1) @ \$200.00 x 108= \$21,600.00

(o) Air Purifier Respirator & Case- "MSA" Millennium Gas Mask with Voice Emitter, filter and "BlackHawk" 56GM00BK Carrying Pouch. (1) Set @ \$320.00 x 108= \$**34,560.00**

(p) Department handgun & Ammunition- Provided by Department.

(q) Body Armor- Provided by Department.

3. Command Post Equipment

(a) Handcuffs or Flex cuffs- Provided by Department.

(b) Arrest and Booking Kit- Provided by Department.

(c) Less lethal Munitions- Provided by department.

(d) Chemical Munitions- Provided by Department.

(e) Bullhorns- Provided by Department.

(f) Yellow Lumber Crayons- Provided by Department.

(g) White Shoe Polish- Provided by Department.

Equipment Summary

1. Vehicles

(2) Trailers- AEL# 12TR-00-TEQP (SF) \$35,000 ea x2= \$70,000 (SFPD)

(1) Trailer- AEL# 12TR-00-TEQP (SMSO)=\$35,000 (SMCSO)

(2) Transport Vans (Specialized Emergency Management)-\$30,000 ea x2=\$60,000 AEL# 12VE-00-SPEC (SFPD)

(1) 15 Passenger Transport Van AEL# 12VE-00-SPEC \$30,000 (SMSO)

(2) Equipment Truck with Hitch (Specialized Emergency Management)-\$47,000 ea AEL# 12VE-00-SPEC (SFPD)

2. Individual Equipment

"UVEX" XC Shooting Glasses. (1) @ \$20.00 x 108= **\$2,160.00** (SFPD) "UVEX" XC Shooting Glasses. (1) @ \$20.00 x 108= **\$2,160.00** (SMSO) AEL# 01ZA-03-EYEP

"Hatch" Operator Tactical Glove. (1) @ \$20.00 x 108= **\$2,160.00 (SFPD)** AEL# 01UT-01-GLOV

"MSA" Ballistic Helmet w/ face shield and tail attachment.
(1) @ \$550.00 x 108= \$59,400.00. (SFPD) AEL# 01LE-01-HLMT
87 X \$550.00= \$47,850 (SMSO) AEL# 01LE-01-HLMT

"Paulson" Riot Shields. (1) @ \$150.00 x (16)= **\$2,400.00.(SFPD)** "Paulson" Riot Shields. (1) @ \$150.00 x (25)= **\$3,750.00. (SMSO) AEL#** 01LE-01-SHLD "Hatch" XTAC Elbow & Knee Pads. (1) pair of elbow and knee pads @
\$30.00 x 108= \$3,240.00 AEL# 01LE-02-PRPD (SFPD)
"Damascus" DSG-100 Hard Shell Shin & Knee Guards.
(1) @ \$60.00 x 108= \$6,480.00 AEL# 01LE-02-PRPD (SFPD)

"Hatch" Disturbance Control Kits (Full suits/accessories) (1)@ \$198 X 87=\$17,226 (SMSO) AEL#01LE-02-BDUS

"CamelBak" Urban Assault #60893 (1) @ \$50.00 x 108= **\$5,400.00 AEL#** 19GN-00-H2OD **(SFPD**)

"Eagle" Ready Load Out Bag, NATO lob- (1) @ \$200.00 x 108= **\$21,600.00 AEL#** 19GN-00-BGPK **(SFPD**)

Gas Mask Pouches 77 X \$18.00= \$1,386.00 (SMSO) AEL# 01ZP-00-GBAG

"MSA" Millennium Gas Mask with Voice Emitter and "BlackHawk" 56GM00BK Carrying Pouch.

(1) Set @ \$320.00 x 108= \$34,560.00 AEL# 01AR-02-APR (SFPD)

Portacount Pro=Fit Tester W N95 and software. Tester, Mask Leak/Fit 2X \$13,300 each=\$26,600 AEL#01AR-07-FTST

Alcohol ISO. 2X @140 each =\$280.00.

Equipment Total =\$483,936